response amplitude

[5-]

response amplitude

a’+0° )
a e
©
o)
5 — )
£ — o)
o /
O S T T 1
0 50 100 150
stimulus intensity (dB)
Vh2 + g2
h h
o
2 —
o fo(x)
S
o) o
O 1 T T T 1
0 20 40 60 80 100

stimulus intensity (dB)

(=2

o threshold (dB)

threshold (dB)

N
(@)
1

f
40

threshold (dB)

~
o
1

[©)]
o

(o))
(@)
1

N
o
]

w
o
1

30 :rééﬁ}ﬁé4%miiéimiﬁﬁmm«mm

25 .

20

}

Y

]
®
“"ﬁ.’ .
'I-u““" 20 criterion
"0...’

hald LTI oo

200 300 400 500 600 700 800 900
sample size
d

threshold (dB)

0 criterion 1

r%éE}g%ém%émﬁ“ﬁﬁﬁiﬁiﬁﬁﬂfmoi

5% criterion

200 300 400 500 600 700 800 90
sample size

knee criterion

200 300 400 500 600 700 800 90
sample size



